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Table 1

19 NS rup HiE£F0
EW #i&2 #H&#(R0)

10

»

B# | DL | & #% ol 4 L ik REAA | COP Datum
T
R txz 2% | NS | EW | 29223 | NS | EW | #9 | #19 | #9 [#19] #9 [#19 || Mean NS EW
1 N |None| 3NS-3 150 3CS+1 50 100 3 EW50 -3
2 E | NS 2SW5 200 4SW6 480 280 7 EW420 6 2
3| S |EW 28S-2 100 2CN-1 50 50 2 EW150 2 -3
4 | W |Both 3DN-1 100 2DN2 90 190 5 NS40 -4 -2
5| N| NS 4SE4 420 2SE3 140 280 7 EW300 -3 -4
6 E | EW 4HNS 450 4HN5 450 NS410 1 -1
7 | S |Both 5DS5 600 3NN6 690 90 3 NS360 6 -8
8 | W |None 4SN5 450 4SS5 450 NS410 1 -1
9 | N | EW 4S5S4 420 38S3 140 280 7 NS190 6 2
10 | E |Both 2SW3 140 2SW-2 200 340 8 NS100 -6 -3
@3 IMP| 14 |28 6 | -18
% 9 H = 19 ER A
> B IMP 14 28
&3P 14 28 »
2 HVP 2.46 14.54
b




8| mlsg<zrApEmFrme | 8| v v -
bhi
NS s:&s 313 A(R0) 1 3 T bl 2 1 7 NS m#® sz 8(FC)
EW kg 5w (PC) a e EW ffi-% FRR(RO0)
B# | DL | & #% ol 4 L ik REAA | COP Datum
1
Kl 29zmx [ NS | EW | 25z2% | NS | EW | #13 | #17 |#13|#17|#13]#17 || Mean | Ns EW
1 N |None 3NS-3 150 3NXE-3 500 650 12 EW50 -3 -1
2 E NS 4SW5 450 4SE5 450 EW420 -1 1
3 S | EW 2SN-3 150 2HW4 170 20 1 EW150 1
4 W |Both 3SW-2 200 2SW-1 100 100 3 NS40 4 -2
5 N NS 4SE4 420 3NW3 400 20 1 EW300 -3 3
6 E | EW 4HN5 450 4HN5 450 NS410 1 -1
7 S |Both 3NN3 600 3DS4 130 470 10 NS360 6 6
8 W |None| 4SN5 450 4SN5 450 NS410 1 -1
9 N | EW 4S5S4 420 4S5S4 420 NS190 6 -6
10 E |Both 3SW-3 300 3DN4 130 170 5 NS100 5 -1
@3 IMP| 19 |13 16 | -11
- 5
2 13 hZ 17 E At
* B IMP 19 13
&3 INP 19 13 ]
2 HVP 12.18 7.82
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NS ##% tha(R0) 5 T bl 3 7 NS mpz mam(P0)
EW m#®» 28580 a e EW %73 #HAR0)
B# | DL | & #% ol 4 L ik REAA | COP Datum
1
Kl 29zmx [ NS [ EW | 25z2% | NS | EW | #5 | #7 | #5 | #7 |#5 | #7 || Mean | Ns | EW
1| N [None] 3Ns-3 150 3NN-3 150 EW50 | -3 3
2 | E|Ns 4SE5 450 4SW6 480 | 30 1 EW420 | -1 2
3|s|Ew 1NE2 120 2SN-2 100 20 1 EW150 | 1 -2
4 | W [Both| 2DN3 110 3DN-1 100 | 210 5 NS40 | 2 4
5| N| NS 2SE4 170 4SE-1 50 220 6 EW300 | 4 -8
6 | E|EW| 6HS-1 50 4HN5 450 500 1 NS410 | -10 A
7 | s [Both| sDs5 600 5DS-1 100 | 700 12 NS360 | 6 10
8 | W [None| 4ss5 450 4SN5 450 NS410 | 1 A
9| N|EW 4ss4 420 4ss4 420 NS190 | 6 -6
10 | E |Both| 2sws3 140 3SW-3 300 440 10 NS100 | -6 5
%3+ IMP|18 |28 -4
B 3 s 7 Cyclops
* B IMP 18 28
£+ NP 18 28 o
» HVP 6.57 13.43
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NS &4 3# (R0 2 T bl 4 1 6 NS g+ #rs(F0)
EW =93 %23 (FC0) a e EW mR? #SRix(R0)
B# | DL | & #% ol 4 L ik REAA | COP Datum
1
¥l 29zmx [ NS | EW | 25z2% | NS | EW | #2 | #16 | #2 [#16] #2 |#16 || Mean | Ns EW
1 N |None 3NS-2 100 3CS-1 50 50 2 EW50 -2
2 E NS 4SW6 480 4SW6 480 EW420 -2 2
3 S | EW 2HW3 140 3NW3 600 460 10 EW150 10
4 W |Both 3DN-1 100 3DN-1 100 NS40 -4 4
5 N NS 3HN-1 100 3NW3 400 300 7 EW300 5 3
6 E | EW 4HN5 450 4HN5 450 NS410 1 -1
7 S |Both 5DN-1 100 3NN5 660 760 13 NS360 -10 -7
8 W |None| 4SN5 450 4SN5 450 NS410 1 -1
9 N | EW 6CXW-3 800 4S5S4 420 380 9 NS190 12 -6
10 E |Both 3DS5 150 3SW-3 300 150 4 NS100 2 -5
w3 INP[26 |19 3 | -
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* B IMP 26 19
&+ 1INP 26 19 ;
2 3-VP 12.51 7.49
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B# | DL | & #% ol 4 L ik REAA | COP Datum
1
R txzex | NS | EW | 223 | NS | EW | #6 | #10 | #6 [#10] #6 [#10 || Mean NS EW
1 N [None 3NS3 400 4CXS-2 300 700 12 EW50 10 6
2 E | NS 4SW5 450 2SW5 200 250 6 EW420 -1 -6
3| S |EW 2NW2 120 2HW4 170 50 2 EW150 1 1
4 | W |Both 3DN3 110 3DN-3 300 410 9 NS40 2 8
5| N | NS 3SE3 140 4SE4 420 || 280 7 EW300 4 3
6 E | EW 4HNS 450 3HN5 200 250 6 NS410 1 5
7 | S |Both 3NN3 600 3NN-2 200 800 13 NS360 6 11
8 | W [None 4SN5 450 3SN4 170 280 7 NS410 1 6
9 N | EW 4SS-1 50 5CW-1 100 150 4 NS190 -6 3
10 | E |Both 3DN5 150 2SW3 140 290 7 NS100 2 6
3+ IMP|63 | 10 20 | 43
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Table 6

18 NS #4ir m2E(F0)
EW s=ieg #45(RO)
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B# | DL | & #% ol 4 L ik REAA | COP Datum
1
b= H22% | NS | EW | %255 | NS | EW | #14 | #18 |#14[#18]#14[#18 || Mean | Ns EW
1 N [None 5HN-3 150 5CS-3 150 EW50 -3 3
2 E | NS 4SW5 450 4SW6 480 30 1 EW420 -1 2
3| S |EW 3CN-2 100 28S-1 50 50 2 EW150 2 -3
4 | W |Both 3SW-3 300 3DN3 110 190 5 NS40 6 -2
5| N | NS 3NW5 460 3NW4 430 30 1 EW300 -4 4
6 E | EW 4HNS 450 4HN5 450 NS410 1 -1
7 | S |Both 5DS-1 100 3Ds4 130 230 6 NS360 -10 6
8 | W [None 4SS5 450 4SN5 450 NS410 1 -1
9 N | EW 5CXW-2 500 3CW3 110 610 12 NS190 7 7
10 | E |Both 3DS4 130 2SW-2 200 70 2 NS100 1 -3
23+ INP|18 |11 12
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£ 3 IMP 18 11 ;
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Table 7

11

NS ¢ F 3520
EW 134 mes(R0)

B# | DL | & Yk M3 ES R A~ COP Datum
1
R txzex | NS | EW | 25225 | NS | EW | #8 | #11 | #8 [#11] #8 [#11 || Mean NS EW
1 N |None 3NS-3 150 4HN-4 200 50 2 EW50 -3 4
2 E NS 4SW6 480 4SW5 450 30 1 EW420 -2 1
3 S | EW 2HW4 170 2HW4 170 EW150 -1 1
4 W |Both 2DN3 110 3DN-1 100 210 5 NS40 2 4
5 N | NS 4SE4 420 4SE4 420 EW300 -3 3
6 E | EW 4HN5 450 4HN5 450 NS410 1 -1
7 S |Both 3NN6 690 4HN6 680 10 NS360 8 -8
8 W |None| 4SN5 450 3SN5 200 250 6 NS410 1 5
9 N | EW 3SS3 140 4SS-1 50 190 5 NS190 -2 6
10 E |Both 3DN4 130 2SW2 110 240 6 NS100 1 5
@3t IMP|24 | 1 2 | 20
-> ~A
Tt 8 YA 11 b 7w
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2 HVP 16.59 3.41
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EW #z# MEE(FCO apie EW #7 3 $&ERO0)
B# | DL | & #% ol 4 L ik REAA | COP Datum
1
R tyze% | NS | EW | 2yzu% | NS | EW | #12 | #15 |[#12[#15[#12[#15 || Mean | Ns EW
1 N |None 3NN-2 100 3NS-2 100 EW50 -2 2
2 E NS 4SW6 480 4SW6 480 EW420 -2 2
3 S | EW 2HE4 170 2HW2 110 60 2 EW150 -1 -1
4 W | Both 2DN3 110 2HW-2 200 90 3 NS40 2 -4
5 N NS 4SE4 420 3HN-2 200 220 6 EW300 -3 -3
6 E EW 4HN5 450 4HS5 450 NS410 1 -1
7 S |Both 3NN6 690 3NN5 660 30 1 NS360 8 -7
8 W |None 4SN5 450 4SN5 450 NS410 1 -1
9 N | EW 5CW-1 100 4SS-1 50 150 4 NS190 -3 6
10 E |Both 2SW3 140 3SW3 140 NS100 -6 6
@3 IMP| 5 |11 5 | -
21 1
3 8 12 2 2 auto pay 15 F‘:B,Tﬁ»{all 1n
* B IMP 5 11
£+ P 5 11 p
B VP 7.82 12.18
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NS £ %4 4 3(R0) 1 T bl 9 20 NS &' H5 (0
EW #$la £34(PC) a e EW mz 2 mEi(R0)
B# | DL | & #% ol 4 L ik REAA | COP Datum
1
R txz 2% | NS | EW | 29223 | NS | EW | #1 | #20 | #1 [#20] #1 [#20 || Mean NS EW
1 N |None 3CS-1 50 3NS-3 150 100 3 EW50 3
2 E NS 4SW5 450 4SW5 450 EW420 -1 1
3 S | EW 2HW4 170 3DE4 130 40 1 EW150 -1 -1
4 W |Both 2DN3 110 3DN-1 100 210 5 NS40 2 4
5 N | NS 4SE4 420 4SE4 420 EW300 -3 3
6 E | EW 4HN5 450 4HS5 450 NS410 1 -1
7 S |Both 3NN-2 200 5DN5 600 800 13 NS360 -11 -6
8 W |None| 2SN5 200 4SN5 450 250 6 NS410 -5 -1
9 N | EW 5SS-1 50 5HE-1 100 150 4 NS190 -6 3
10 | E |Both 3DS4 130 3SW-3 300 170 5 NS100 1 -5
A3t IMP| 8 |29 -23
B 1 eI 20 B 4%
* B IMP 8 29
&3 NP 8 29 a1
2 VP 3.82 16.18
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NS =%% »®:2(R0) 3 T bl 10 21 NS & #£=#(F0)
EW 4% 23430 a e EW (k% SEF(RO)
B# | DL | & 2R M3 ES A%ERE A COP Datum
1
Kl z9zmx [ NS | EW | 25z2% | NS | EW | #3 | #21 | #3 [#21| #3 [#21 || Mean | Ns | EW
1| N |None] 3cs3 110 3CN-1 50 | 160 4 EW50 | 4
2 | E|Ns 4SW5 450 4DE6 170 280 7 EW420 | -1 -6
3|s|Ew| 2Hwa 170 3HE3 140 30 1 EW150 | -1
4 | W [Both| 3DN3 110 3DN3 110 NS40 | 2 2
5| N| NS 4SE-1 50 4SE4 420 | 470 10 EW300 | 8 3
6 | E|EW 4HS5 450 4HN5 450 NS410 | 1 A
7 | s [Both| 4Ds4 130 5DS5 600 470 10 NS360 | -6 -6
8 | W [None| 4sNs 450 4SN5 450 NS410 | 1 A
9 | N|EW| 4cwa 130 55S-1 50 80 2 NS190 | -8 6
10| E |Both| 3sw-3 300 3DS3 110 190 5 NS100 | 5
#3+ INP| 19 |20 5 | -7
. 23 A ) e 5
B3 3 I RECRE SR 21 i<
* B IMP 19 20
£+ NP 19 20 .
2 HVP 9.61 10.39
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o e 4 |Table 11| 22 55—
EW 9] a e EW (R0)
B# | DL | & 2B % MEF3E ¥ m%EAA | COP Datum
1
i EHE S NS EW EHE S NS EW #4 | #22 | #4 |#22| #4 |#22 Mean NS EW
1 N |None Averagg Averagg EW50
2 E | NS A Averagg¢ A Averagg¢ EW420
3 S | EW A Averagg A Averagg EW150
4 | W |Both A Averagg¢ A Averagg¢ NS40
5 N | NS A Averagg A Averagg EW300
6 E | EW A Averagg¢ A Averagg¢ NS410
7 S |Both A Averagg A Averagg NS360
8 | W [None A Averagg¢ A Averagg¢ NS410
9 N | EW A Averagg A Averagg NS190
10 | E |Both A Averagg¢ A Averagg¢ NS100
Ry I
% 4 SHDC 22 %7
* B IMP
& - INP
# HVP 12.00




2 RS <
8 | 1M EZ 2RABERFLIRE | 8 P
bhi
NS mum #E£(FC) 1 9 T bl 1 9 NS #szm #2 &R0
EW i3 HeR(R0) apie EW &irg §k(FC)
B# | DL | £ % MPEZ ARE ES R A~ COP Datum
1
¥l 29zmx [ NS | EW | 25z2% | NS | EW | #19 | #9 |#19] #9 |#19] #9 || Mean | Ns EW
1 N |None 3CS-1 50 3NS-3 150 100 3 EW50 3
2 E NS 4SW6 480 2SW5 200 280 7 EW420 -2 -6
3 S | EW 2CN-1 50 2SS-2 100 50 2 EW150 3 -2
4 W |Both 2DN2 920 3DN-1 100 190 5 NS40 2 4
5 N NS 2SE3 140 4SE4 420 280 7 EW300 4 3
6 E | EW 4HN5 450 4HN5 450 NS410 1 -1
7 S |Both 3NN6 690 5DS5 600 90 3 NS360 8 -6
8 W |None| 4SS5 450 4SN5 450 NS410 1 -1
9 N | EW 3SS3 140 4S5S4 420 280 7 NS190 -2 -6
10 E |Both 2SW-2 200 2SW3 140 340 8 NS100 3 6
B3 IMP| 28 |14 18 | -6
B3 19 22 9 ¥ 5
* B IMP 28 14
£ 1P 28 14 .
2 3-VP 14 .54 5.46
Bt
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NS mi®E w2 8(FC) 1 7 T bl 2 1 3 NS =f&® 1374 (R0)
EW ffi-f’n FRER(RO0) a e EW migg # %4 (FC)
B# | DL | £ % MPE 2HE ES R% R A~ COP Datum
1
¥l z9zmx [ NS | EW | 25z2% | NS | EW | #17 | #13 |#17|#13|#17]#13 || Mean | Ns EW
1 N |None| 3NXE-3 500 3NS-3 150 650 12 EW50 11 3
2 E NS 4SE5 450 4SW5 450 EW420 -1 1
3 S | EW 2HW4 170 2SN-3 150 20 1 EW150 -1
4 W | Both 2SW-1 100 3SW-2 200 100 3 NS40 2 -4
5 N NS 3NW3 400 4SE4 420 20 1 EW300 -3 3
6 E EW 4HN5 450 4HN5 450 NS410 1 -1
7 S [Both 3DS4 130 3NN3 600 470 10 NS360 -6 -6
8 W |None 4SN5 450 4SN5 450 NS410 1 -1
9 N | EW 4SS4 420 4SS4 420 NS190 6 -6
10 E |Both 3DN4 130 3SW-3 300 170 5 NS100 1 -5
@3t IMP| 13 |19 1 | 16
> 43
B% 17 Z & 13 b2
* B IMP 13 19
£+ P 13 19 p
2 HVP 7.82 12.18
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Table 3

5

NS F#% Hes(R0)
EW miw 225 (#C0)

»

B# | DL | & #% MEE M E ik REAA | COP Datum
1
R txzex | NS | EW | cxnz22% | NS | EW | #7 | #5 |#7 | #5|#7]#s Mean NS EW
1 N |None| 3NN-3 150 3NS-3 150 EW50 -3 3
2 E | NS 4SW6 480 4SES5 450 30 1 EW420 -2 1
3| S |EW 2SN-2 100 1NE2 120 20 1 EW150 2 -1
4 | W |Both 3DN-1 100 2DN3 110 210 5 NS40 -4 -2
5| N| NS 4SE-1 50 2SE4 170 || 220 6 EW300 8 -4
6 E | EW 4HNS 450 6HS-1 50 500 11 NS410 1 10
7 | S |Both 5DS-1 100 5DS5 600 700 12 NS360 -10 -6
8 | W |None 4SN5 450 4SS5 450 NS410 1 -1
9 | N | EW 4S5S4 420 4S5S4 420 NS190 6 -6
10 | E |Both 3SW-3 300 2SW3 140 440 10 NS100 5 6
23 IMP|28 |18 4
53 7 Cyclops S K
> B IMP 28 18
&3+ NP 28 18 0
» VP 13.43 6.57
it
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Table 4

2 NS #&# 34 2RO
EW =#® %22 (FC)

»

B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
R tyze% | NS | EW | 2yzu% | NS | EW | #16 | #2 |#16] #2 [#16] #2 || Mean | Ns EW
1 N |None| 3CS-1 50 3NS-2 100 50 2 EW50 2
2 E NS 4SW6 480 4SW6 480 EW420 -2 2
3 S | EW 3NW3 600 2HW3 140 460 10 EW150 -10
4 W | Both 3DN-1 100 3DN-1 100 NS40 -4 4
5 N NS 3NW3 400 3HN-1 100 300 7 EW300 -3 -5
6 E EW 4HN5 450 4HN5 450 NS410 1 -1
7 S [Both 3NN5 660 5DN-1 100 760 13 NS360 7 10
8 W |None 4SN5 450 4SN5 450 NS410 1 -1
9 N | EW 4SS4 420 6CXW-3 800 380 9 NS190 6 -12
10 E |Both 3SW-3 300 3DS5 150 150 4 NS100 5 -2
@3t IMP| 19 |26 1 -3
. ]
B3 16 prime 2 @ F
* B IMP 19 26
£+ P 19 26 p
- $-VP 7.49 12.51
5t




2 - _— 33 N 2
8 | 1M EF r2RABERFIRE | 8 b
3
NS =48 = ®(F0) 1 0 T bl 5 6 NS #z# g£22(R0)
EW m## %35(R0) a e EW i maz®(F(C)
B# | DL | & #% MEE M E ik REAA | COP Datum
1
Kl z9zmx | NS [ EW | 25z2% | NS | EW | #10 | #6 |#10] #6 |#10| #6 || Mean | Ns | EW
1 | N |None| 4cxs-2 300 3NS3 400 700 12 EW50 | -6 -10
2 | E| NS 2SW5 200 4SW5 450 | 250 6 EW420 | 6 1
3| s |EwW 2HW4 170 2NW2 120 50 2 EW150 | -1 v
4 | W |Both| 3DN-3 300 3DN3 110 410 9 NS40 | -8 -2
5| N| NS 4SE4 420 3SE3 140 280 7 EW300 | -3 -4
6 | E|EW 3HN5 200 4HNS5 450 250 6 NS410 | -5 A
7 | s |Both| 3NN-2 200 3NN3 600 800 13 NS360 | -11 -6
8 | W |None| 3sNa 170 4SN5 450 280 7 NS410 | -6 A
9 | N|EW| scw- 100 45S-1 50 | 150 4 NS190 | -3 6
10 | E |Both| 2sws3 140 3DN5 150 290 7 NS100 | -6 -2
®3- IMP| 10 | 63 43 | -20
- K ke -
B3 10 PHEAVEN & % 6 Fo f o a
* @ INP 10 63
£+ NP 10 63 "
2 3VP 20.00
5t




2 - - <
8 | 1M EF r2RABERFIRE | 8 b
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NS #34 me£(P0) 1 8 T bl 6 14 NS m¥% 24£(R0)
EW =g #485 (R0) apie EW #4#4 23#£(F0)
B# | DL | £ % MPE 2HE ES R% R A~ COP Datum
1
R tyze% | NS | EW | 2yzu% | NS | EW | #18 | #14 |[#18[#14#18[#14 || Mean | Ns EW
1 N |None| 5CS-3 150 5HN-3 150 EW50 -3 3
2 E NS 4SW6 480 4SW5 450 30 1 EW420 -2 1
3 S | EW 2SS-1 50 3CN-2 100 50 2 EW150 3 -2
4 W | Both 3DN3 110 3SW-3 300 190 5 NS40 2 -6
5 N NS 3NW4 430 3NW5 460 30 1 EW300 -4 4
6 E EW 4HN5 450 4HN5 450 NS410 1 -1
7 S [Both 3DS4 130 5DS-1 100 230 6 NS360 -6 10
8 W |None 4SN5 450 4SS5 450 NS410 1 -1
9 N | EW 3CW3 110 5CXW-2 500 610 12 NS190 -7 -7
10 E |Both 2SW-2 200 3DS4 130 70 2 NS100 3 -1
@3t IMP| 11 |18 A2
- - 2 /7
By 18 B A5 14 JUI%#JF“!:
* B IMP 11 18
£ 3+ INP 11 18 p
- $-VP 7.49 12.51
5t
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Table 7

[ 8]

8 NS %@ #2320
EW #+5% gy 2(FC0)

»

B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
R txz 2% | NS | EW | 29223 | NS | EW | #11 | #8 |[#11| #8 |#11]| #8 Mean NS EW
1 N |None 4HN-4 200 3NS-3 150 50 2 EW50 -4 3
2 E NS 4SW5 450 4SW6 480 30 1 EW420 -1 2
3 S | EW 2HW4 170 2HW4 170 EW150 -1 1
4 W | Both 3DN-1 100 2DN3 110 210 5 NS40 -4 -2
5 N NS 4SE4 420 4SE4 420 EW300 -3 3
6 E EW 4HN5 450 4HN5 450 NS410 1 -1
7 S |Both 4HNG6 680 3NN6 690 10 NS360 8 -8
8 W |None 3SN5 200 4SN5 450 250 6 NS410 -5 -1
9 N | EW 4SS-1 50 3SS3 140 190 5 NS190 -6 2
10 E |Both 2SW2 110 3DN4 130 240 6 NS100 -5 -1
@3t IMP| 1 |24 20 | -2
~L -
%% 11 L ja 8 RY 4
* B IMP 1 24
&3+ IMP 1 24 .
B VP 3.41 16.59
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NS _teiWRIPY 415 |Table 8 | 12 N5 222 xmo
EW 7 2 §aE(R0) apie EW %33 mag (0
B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
R tyze% | NS | EW | 2yzu% | NS | EW | #15 | #12 [#15[#12]#15[#12 || Mean | Ns EW
1 N |None| 3NS-2 100 3NN-2 100 EW50 -2 2
2 E NS 4SW6 480 4SW6 480 EW420 -2 2
3 S | EW 2HW2 110 2HE4 170 60 2 EW150 1 1
4 W | Both 2HW-2 200 2DN3 110 90 3 NS40 4 -2
5 N NS 3HN-2 200 4SE4 420 220 6 EW300 3 3
6 E EW 4HS5 450 4HN5 450 NS410 1 -1
7 S [Both 3NN5 660 3NN6 690 30 1 NS360 7 -8
8 W |None 4SN5 450 4SN5 450 NS410 1 -1
9 N | EW 4SS-1 50 5CW-1 100 150 4 NS190 -6 3
10 E |Both 3SW3 140 2SW3 140 NS100 -6 6
@3 IMP[11] 5 1 5
82 :
% 15 Fxfall in |12 < 2 auto pay
* B IMP 11 5
&3+ IMP 11 5 ;
- $-VP 12.18 7.82
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NS #%fr #552F0) 2 T I 1 NS %% %4 3(R0)

EW m= ¢ meEgE(R0) 0 ab e 9 EW #ai 23870

B# | DL | & |— MEE M E ik REAA | COP Datum

£928%% | NS | EW | sx2u3% | NS | EW | #20 | #1 [#20] #1 [#20[ #1 || Mean [ NS | EW
1 | N |Nonel 3NS-3 150 3Cs-1 50 100 3 EWs0 | -3
2 | E|Ns 4SW5 450 4SW5 450 EW420 | -1 1
3|8 |EW 3DE4 130 2HW4 170 | 40 1 EW150 | 1 1
4 | W |Both|  3DN-1 100 2DN3 110 210 5 NS40 | -4 -2
5| N|Ns 4SE4 420 4SE4 420 EW300 | -3 3
6 | E|EW 4Hs5 450 4HN5 450 NS410 | 1 -1
7 | S |Both|  5DN5 600 3NN-2 200 | 800 13 NS360 | 6 1
8 | W |None[  4SN5 450 2SN5 200 250 6 NS410 | 1 5
9 | N|EW| 5HE-1 100 55S-1 50 | 150 4 NS190 | -3 6
10 | E |Both| 3SW-3 300 3Ds4 130 170 5 NS100 | 5 -
B3 IMP|29 | 8 23

e 20 b 1 TE

* @ INP 29 8

£+ INP 29 8

2 3-VP 16.18 3.82
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NS Ha# &30 21 T bl 1 0 3 NS %% *®:(R0)
EW <¢F* AF(RO) a e EW 249 zg4(5C)
B# | DL | £ % MFE ARE ES A%ERE A COP Datum
1
Kl z9zmx | NS | EW | 25z2% | NS | EW | #21 | #3 [#21] #3 |#21] #3 || Mean | Ns | EW
1| N |None] 3CN-1 50 3cs3 110 160 4 EWS50 -4
2 | E|Ns 4DE6 170 4SW5 450 | 280 7 EW420 | 6 1
3|s|Ew 3HE3 140 2HW4 170 | 30 1 EW150 1
4 | W [Both| 3DN3 110 3DN3 110 NS40 | 2 2
5| N| NS 4SE4 420 4SE-1 50 470 10 EW300 | -3 -8
6 | E|EW 4HN5 450 4HS5 450 NS410 | 1 A
7 | s [Both| sDs5 600 4Ds4 130 470 10 NS360 | 6 6
8 | W [None| 4sNs 450 4SN5 450 NS410 | 1 A
9| N|EW 5SS-1 50 4cw4 130 | 80 2 NS190 | -6 8
10| E |Both| 3DsS3 110 3SW-3 300 190 5 NS100 5
#3+ IMP|20 |19 7 | 5
e K EC IR )
E2 21 i < 3 P BEPS R
* B IMP 20 19
&+ 1INP 20 19 1
2 3VP 10.39 9.61
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B# DL |+ MEE M E ik REAA | COP Datum
tHz%% | NS | EW | 6223 | NS | EW | #22 | #4 [#22| #4 |#22| #4 || Mean | Ns EW
1 N [None EW50
2 | E|NS EW420
3| S |EW EW150
4 | W |Both NS40
5| N|NS EW300
6 | E|EW NS410
7 | S |Both NS360
8 | W [None NS410
9 | N |EW NS190
10 | E |Both NS100
A3 IMP
o 22 W 4 SHDC
> B IMP
£ 3 IMP
B SVP 10.00 10.00
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